ax (-g) Kb (42.8) xcxaxaxc S BA 7152 Aersto] et
RIES
> oo

> ®HEF D —2a3hc?

g2 e AuAEe 22
4) 22 ol =2 1 2 A=,

)
wHebA] g x (—?> Xbx(+2.8) xcxaxaxc=—-2a>bc?




a. b 7bOFSTF 22 U, “2a 4 b2 o] FHE Fotolat,

b=(-9)+==(-9)x3=-27

so=2a+b% = -2x (-1) + (-27)?
=2+4729 =731




@ x(3x+2)+6

® 2(a-2b+3)

o0
—
lT
[
a
lT
=
@
©
_
=
T+
/m\mu./
.
3 =
+
3 =
<+
®A©“,




AHga oz e et

i
=
al7|
Nfo

ojn

O YHo dolZ7taem , =0]7Fbem ©
@ x% 9 £2FE 200g °ll

® a2

1 [e)
a4

S} .
= .

N

7t

°] 15% e

he!

ol

—

7

® A7t p A9

1
2

1

+2:axbx§:—ab

D axb

X %200=2
100 .

® ax

X

@

_4a
5

2
10




5.

a+b+cxd=3&HA 7199 WAl 7198 AEfsto] ehlH?

abed acd ad 3bc abc
05t oy @ o% of

B ~

a+b+cxd=3
:ax%x%xdx%
_axlxlxdxl
o bxcx3
_ad

~ 3be




6. ol Aelo] $A7ka, Al Ae] A7t b A A Ape] AA5E BAS
g3 Mo HAstole

> E:

> HEH: 100a + b

100 xa+10x0+1xb = 100a + b




— | =

Q@ @

¥2




